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A:-occassion
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Question65:-Choose the correct passive form of the following.
'‘Manoj has read many good books'.

A:-Many good books has been read by Manoj
B:-Many good books had been read by Manoj
C:-Many good books have been read by Manoj
D:-Many good books were read by Manoj
Correct Answer:- Option-C
Question66:-ldentify the word which does not mean amend.
A:-Join
B:-Change
C:-Improve
D:-Modify
Correct Answer:- Option-A
Question67:-If | had time,
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A:-whether she could sing

B:-Whether she can sing
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D:-Whether could she sing
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Question69:-Read the sentence given below to find out whether there is any
grammatical error in it. The error if any will be in one part of the sentence. If there
is no error the answer is 4. Mark the answer in the response sheet



A:-One of four students

B:-Have won

C:-The first place in the competition
D:-No error

Correct Answer:- Option-B

Question70:-In the question below there is a sentence of which some parts have

been jumbled up. Rearrange these parts labelled PQR and S to produce the correct
sentence.

Choose the proper sequence and mark the answer in the response sheet
P. by people who do amazing things

Q. but what is more inspiring

R. is how they got there

S. we are inspired

A:-QRPS

B:-PRQS
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D:-PRSQ
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Correct Answer:- Option-C
Question80:-'20%' IBE, Aedon® Tues

A:-20&¢9
B:-2on
C:-20ms
D:-3¢cxd

Correct Answer:- Option-A
Question81:-0sd,c03> 350 3B 30 FoOWE 2013 25001 2000

A:-13¢ %3=0 2013
B:-31:¢ Soe, 2013
C:-5a¢ =g, 2013
D:-83ocwof 4, 2013

Correct Answer:- Option-C

Question82:-0agy 03> &% 335 e To0%0E 20130 Fgn® 100 FFa0, Sotdowniesy 6%53"060
INFR RuSL3RCTNG

A:-3cog XoFT

B:-oag ABIET

C:-g¥ead> ECe) ROREO
D:-70:350238 ©903> Bl

Correct Answer:- Option-B
Question83:-oaz§ B30 Y
)

A:-8¢ 3 %030B0R00°
B:-8¢. 3ez5 ehncks® oo B8



C:-8¢. 3. Secvrincmoe®
D:-8¢. 3.9. 3B BR[0T
Correct Answer:- Option-D
Question84:-3eog F5FCR0RE W0oZAEE0d ©F 03T YRIFTIRE DP03
A:-x330 1, 2010
B:-25 &x0wof 2000
C:-83000°f 1, 2002
D:-18¢ %xd=30 2000

Correct Answer:- Option-B

Question85:-3c0¥ emcgeés FORIE WAT D300 ?dgodo ©0doog ed 31303 2021 0doos est3e3s
58:-’3\@3 CRRNTS

A:-5c0¥ IB3T 3633 1966

B:-0og 03> 3830 23830 500w 2013
C:-09,£03) 3590 BITTI2 T30 2018
D:-eaﬁg FOBONY T2090T 1995

Correct Answer:- Option-A
Question86:-1R®s K00ZFe 5203) 2019 25207 20T

A:-earﬂs:s9, 2019
B:-243&e¢ &xowof, 2019
C:-@ﬁ@}’wo‘i 10, 2019
D:-z3x30 1, 2019

Correct Answer:- Option-A

Question87:-1e®s 300350 5203 20193 ©B0LY, Togeodd NYHTC DB NY H0HT
odeena S0t $038038 BUE BRACNYRL FPRITIT)

A:-2,080 Bck3
B:-®3> d,0ct3
C:-2030 Bcks
D:-Q080¢

Correct Answer:- Option-B
Question88:-é:)§ €350 @é& 2021 %3



A:-3300350 éoazéon"' aloN éw‘
B:-@o. d0a3° ma&omc;ia‘
C:-g./aé&/aeon‘
D:-3Q 03839 35 Fpen®
Correct Answer:- Option-A
Question89:-z?so@dme e35¢ QOBONE mﬁoca’csig (BIS) B & pos Bejed

A:-B023

%3
B:-Bxd
C:-B00023,
D:-zSﬁel
Correct Answer:- Option-B

Question90:-3.8.8.8.a%°. (Control) e8e3 20210 ©&B03LY SBIC BB ACES3
DCIBNO 93

A:-5 IIEned
B:-1 IR€

C:-10 IRened
D:-n03 o3 aQ

Correct Answer:- Option-A

Question91:-GST (Goods and Service Tax) 232011 WOB IRE
A-mnd 1, 2017
B:-esni=¢ 1, 2017
C:- meo®l, 2017
D:-3g30wo® 1, 2017

Correct Answer:- Option-A

Question92:-03g,¢03> 630 $IFF T0VTALB FCIRY P IMETY FedABpFe B0
0530308 ©ROBOIONTS

A:-95 Og
B:-2.10 3nects
C:-1.48 B0t

D:-1.5 &nctsd



Correct Answer:- Option-D
Question93:-3c0¥RY) &350 F0BRCHEN R0 ea@aétb@:nozs@? (CFRD) o9w?

A:-3003003R)00
B:-8/023
%
C:-3neQ
D:-3ego0
Correct Answer:- Option-C
Question94:-0sd £0d> NY®HTT IFWNY FOBIC es03eeNE ;bo%)g
A:-B B0t D 03 ©90355300
B:-2Bectdrd A3 D90d5pe3vaN0nIe)
C:-3Bct3ed ai)o%) mzpimmaraimﬂdﬁe&
D:-300 et s B0 egne AZ3 méod,m@céoaﬁdzseﬁa

Correct Answer:- Option-D
Question95:-3cC¢ 0% DINOT T ANS VI3 m@da"oﬁa IRE

A:-1980
B:-1974
C:-1964
D:-1975
Correct Answer:- Option-B
Question96:-238 0B} 03590 B5e02T $5e0 FeoR, FTorT 6&)#3\ Wowo W3e3 (MSP) Foed2ws?

A:-£30309 oazg,mf 3590 FORE WAT 30T QUANLD
B:-ga 3% 303> 3Sridmen esodeer

C:-8eog, 7edo00dd

D:-3¢03, ®£050R0 BL3To0030

Correct Answer:- Option-B
Question97:-0sd,c0dd NYBTC IFMWNY BOHT 303eeNE JATO e‘)qgg

A:-T90d0R3E . WILTHR® HD0TB
B:-0903030,38¢ 0%, 8. et o
C:-090303008¢ B BB
D:-m9odoaoeds B3 ¥

Correct Answer:- Option-A



Question98:-m&eod; €300 z,dgaa 007 20133 éﬁ)d JRST 23ee3 BROTOIION 3&)3’5\
5013?35\5 A8

A:-21 IRENLD
B:-25 JIacnied
C:-18 Ixened
D:-30 IReND
Correct Answer:- Option-C
Question99:-3e0¥ Dot TNDT K0T A DO SABO MUFTNT SPT® HYTI
A:-30I35°
B:-8/03
%
C:-Bcts, 300300310
D:-%@@@é@ew‘i

Correct Answer:- Option-A

Question100:-2021 & KTPDS g30a0 £0098 59850 daddogead (control) ©Bodog)
SOOUT) FACW T 9PTO 0359007

A:-Be @aq,@ 2980

B:-®ori08 20 T%0 30300300
C:-8¢p50

D:-2%@0 80508003 Qa0 9050

Correct Answer:- Option-C



